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Heater Element 1

Data
Fitted Curve: = 521.76 ± 0.19,
A = 40.12 ± 0.01, B = 112.01 ± 0.01
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Heater Element 2

Data
Fitted Curve: = 515.27 ± 0.16,
A = 37.96 ± 0.01, B = 111.47 ± 0.01
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Heater Element 3

Data
Fitted Curve: = 520.96 ± 0.20,
A = 40.30 ± 0.01, B = 115.34 ± 0.01
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Heater Element 4

Data
Fitted Curve: = 523.75 ± 0.21,
A = 40.36 ± 0.01, B = 111.49 ± 0.01
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Heater Element 5

Data
Fitted Curve: = 519.79 ± 0.21,
A = 37.17 ± 0.01, B = 112.14 ± 0.01
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Heater Element 6

Data
Fitted Curve: = 538.75 ± 0.23,
A = 38.13 ± 0.01, B = 107.03 ± 0.01
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Heater Element 7

Data
Fitted Curve: = 531.00 ± 0.22,
A = 37.94 ± 0.01, B = 106.91 ± 0.01
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Heater Element 8

Data
Fitted Curve: = 467.03 ± 1.17,
A = 38.38 ± 0.06, B = 111.39 ± 0.06


